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Q.1 Findtheoutputofthefollowing:-

(a) S=‘‘‘One

Two

Three’’’

print(len(S))

(b) S=“One\

Two\

Three”

print(len(S))

(c) L=["Mon","Tue","Wed"]

foriinL:

i=i+"*"

print(i,end=":")

print(L)

(d) sum=0

foriinrange(10,1,1):

sum+=a

print(sum)

(e) L=[20,18,16,14,10]

forainrange(len(L)):

ifa%2==0:

L[a]+=3

print(a)

else:

print(L)

(f) p="PINEAPPLE"

i='P'

whileiinp:

print(i,end='*')

(g) d={(1,2):10,(2,3):20,(3,4):30}

s=0

foriind:

s+=d[i]

c=sum(i)

print(c,"#",s)



Q.2 Answerthefollowingquestions:-

a) Howisamutabledatatypedifferentfromimmutabledatatype?

b) Theelseclausecanbeusedbothinifstatementandloopstatement.Whenisitusedineachof

thosestatements?

c) Whatareescapesequencesinpython?Listfewexamples.

d) Discusstheuseofbreakandcontinuekeyword.

e) Listthemandatoryfeaturesforkeysofdictionary.

f) Whatisthedifferencebetweenpop(),remove(),del()andclear()oflist?

Q.3 ProgramsinPython:-

(a) WAPtoentercostpriceandsellingpriceofanitemandcheckwhetherthereisprofitorloss.

Calculatethepercentofeachanddisplay.

(b) WAPtoenteranumberandprintFibonacciseriesuptothatterm.

(c) WAPtoenterastringandcountthetotalnumberofuppercase,lowercase,digitsandspecial

charactersfromit.

(d) WAPtoenteralistofnumbersandarrangetheminincreasingorderusingInsertionsort

method.

(e) WAPtoenteralistofwordsandprintthewordwithmaximumlength.

(f) WAPtoenteralistofwordsandmodifythelistinsuchawaythateachelementconsistonlythe

firstandlastcharacter.

Ex:L=[“peter”,“nayanika”,“sourav”,“amit”]

ThenafterprogramL=[“pr”,“na”,“sv”,“at”]

(g) WAPtoenteranestedtupleofnumbersandcalculatethesumofeachnestedelement.Ex:

T=((10,15,20),(2,1),(5,3,7))

Thenoutputshouldbe

Sum1=45

Sum2=3

Sum3=15

(h) WAPtoenteradictionaryhavingmonthnameaskeysandnumberofdaysasitsvalue.Print

onlythosemonthnameswherenumberofdaysare31.

(i) WAPtoenteralistofwordsandcreateadictionarywiththosewordsaskeysandthenumber

ofvowelsititaskey.

Ex:L=[“First”,“Second”,“Third”,“Fourth”,“Fifth”]

ThenD={“First”:1,“Second”:2,“Third”:1,“Fourth”:2,“Fifth”:1}
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